
²⁰²⁵　大阪大学（前期）物理　解答例

〔１〕　

問 ¹　 Fmin = µg (M +m)
:::::::::::

問 ²　 V1 =
F1 − µ ′mg

M
T1

:::::::::::::

　，　　 v1 = µ ′gT1
:::::

問 ³　 v0 = 0
:
　，　　 T2 =

MV0

F2
:::::

問 ⁴　 v2 =
M

M +m
V0

::::::::::

問 ⁵　 Vn
′ =

(−e)nm+M

M +m
V0

::::::::::::::::

　，　　 vn
′ =

{
1− (−e)n

}
M

M +m
V0

::::::::::::::::::

問 ⁶　 v3 =
M

M +m
V0

::::::::::

問 ⁷　 1

2µ ′mg

{
mM

M +m
V0

2 − k (L− d)2
}

::::::::::::::::::::::::::::::::::

問 ⁸　 a = − M +m

Mm
k

(
D − d− µ ′mg

k

)
:::::::::::::::::::::::::::::

　

問 ⁹　 d1 = d+
µ ′mg

k
−

√
MmV0

2

k (M +m)
+

(
µ ′mg

k

)2

:::::::::::::::::::::::::::::::::::::::

　

問 ¹⁰　 L = d+ (−1)n


√

MmV0
2

k (M +m)
+

(
µ ′mg

k

)2

− (2n− 1)
µ ′mg

k


:::::::::::::::::::::::::::::::::::::::::::::::::::::::::
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〔２〕　

問 ¹　
::::
（イ）

問 ²　W1 = hν − eV0
::::::::

問 ³　 v1 =

√
2eV1

m
:::::::

問 ⁴　 vx =
eE`

mv1
:::::

問 ⁵　 eB

m
::::

問 ⁶　 v0 =

√
2w

m
::::::

問 ⁷　 1√
3

::::

倍

問 ⁸　
::::
（せ）

問 ⁹　 Y =
1

B

√
2mEX

e
:::::::::::::

　

問 ¹⁰　
::::::::::
（ち），（て）
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〔３〕

問 ¹　 2x0D0

L
:::::::

問 ²　D0 =
λ0L

2∆x
:::::

問 ³　 k =
nF0

(n− 1)D0
:::::::::::

問 ⁴　 λ1 = 5.6× 10−7
:::::::::

m　

問 ⁵　D2 = 2.7× 10−7
:::::::::

m　，　　D3 = 1.9× 10−7
:::::::::

m

問 ⁶　 1.6× 10−13
::::::::::

J

問 ⁷　
::::
（オ）

問 ⁸　（あ） 1

mZ

(√
2mXEX −mnvn

)
::::::::::::::::::::::::

（い） 1

2
mnvn

2 +
1

2
mZvZ

2 − EX −Q
:::::::::::::::::::::::::::::

（う） =
::

（え） mZ +mn

mX −mZ −mn
Q

:::::::::::::::::

問 ⁹　
::::::::::::::::::::::
（ス），（セ），（ソ），（タ）




